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Appendix C

The Formal 
Recordkeeping System

For those interested in a deeper understanding of the formal records and processes used in the accounting system, the following discussion describes and illustrates the use of the General Journal and General Ledger during the accounting period, the construction of the worksheet at year-end, and the use of reversing entries at the beginning of the next accounting period.

General Journal

After transaction analysis, the economic effects of each transaction are formally entered into the accounting system in a record known as the journal (or General Journal). The effects of each transaction are recorded in journal entries in chronological order (i.e., by date of occurrence). Typically, the effects of transaction analysis are recorded first in the journal. Thus, the General Journal is referred to as the book of original entry. The journal is the only place in the accounting system where the economic effects of each transaction are linked physically and recorded chronologically. In most businesses, the formal records have been computerized. For educational purposes, it is easier to understand the formal records if we illustrate them in a manual system.

You will recall from Chapter 2 that journal entries prepared as analytical tools include a date, the account(s) to be debited followed by the account(s) to be credited and indented to the right. Formal journal entries also include the account, or reference, number from the company’s chart of accounts, and an explanation of the transaction with sufficient detail for tracing the entry to the source documents (to provide an audit trail for future reference).  Exhibit C.1 illustrates the first two transactions for Terrific Lawn Maintenance Corporation (from the Demonstration Case at the end of Chapters 2, 3, and 4).

General Ledger

In Chapters 2 through 4, we illustrated the use of T-accounts as tools to reflect the effects of transactions for each account and to accumulate balances. Collectively, these individual T-accounts resemble pages from the second formal record known as the ledger, or General Ledger. The ledger may take on many forms. Handwritten accounting systems may use a loose-leaf ledger with one page for each account. With a computerized accounting system, the ledger is kept on electronic storage devices, but individual accounts are still maintained. Each account is identified by a descriptive name and an assigned number (e.g., Cash, 101; Accounts Payable, 201; and Sales Revenue, 401).

EXHIBIT C.1
Illustration of the Journal

	GENERAL JOURNAL

Page        1      

	
Date
	
Account Titles and Explanation
	Posted Ref.
	
Debit
	
Credit

	4/1/20A
	Cash
	101
	9,000
	

	
	  Share capital
	301
	
	9,000

	
	 Issued 1,500 shares to investors (names).
	
	
	

	
	
	
	
	

	4/3/20A
	Equipment
	110
	600
	

	
	  Cash
	101
	
	200

	
	  Notes payable
	201
	
	400

	
	 Purchased hand tools (supplier and invoice data 
	
	
	

	
	  Indicated), paying part in cash (cheque number 
	
	
	

	
	  Indicated) and part on account.
	
	
	

	
	 
	
	
	



The ledger contains information that initially was recorded in the journal and then transferred to the appropriate accounts in the ledger. The transfer of information from the journal to the ledger is called posting. This transfer from the chronological arrangement in the journal to the account format in the ledger is important because the ledger reflects the data classified as assets, liabilities, owners’ equity, revenues, and expenses. This reclassification of the data facilitates the subsequent preparation of financial statements.

The economic data concerning transactions end up in the ledger; therefore, it has been called the book of final entry. Exhibit C.2 shows a page from the ledger of Terrific Lawn Maintenance Corporation in columnar format. The T-account concept is maintained with a running balance added.

A business of the size of a doctor’s office or local retail shop usually records its transactions in the journal each day and posts to the ledger less frequently, perhaps every few days. Of course, the timing of these activities varies with the data processing system used and the complexity of the entity. In many computerized systems, the transactions can be posted instantaneously to the ledger when recorded in the journal. Many affordable computerized accounting software packages are available for small businesses.

To post to the ledger, the debits and credits shown in the journal entries are transferred directly as debits and credits to the appropriate accounts in the ledger. Both the journal and the ledger have a Posted Reference column for cross-reference between these two records. When posting has occurred, the appropriate reference is indicated in each formal record. In the journal, the numbers in the Posted Reference column indicate the ledger account to which the dollar amounts were posted. In the ledger account, the numbers in the Posted Reference column indicate the journal page from which the dollar amounts were posted. Reference numbers are used in the posting phase (1) to indicate that posting has been done and (2) to provide an audit trail.

EXHIBIT C.2
Illustration of a Ledger Account in Columnar Format

	GENERAL LEDGER 
Account Title   Cash                                                           Account Number   101   

	
Date
	
Explanation
	Posted
Ref.
	
Debit
	
Credit
	
Balance

	4/1/20A
	Investments by owners
	1
	9,000
	
	9,000

	4/3/20A
	Hand tools purchased
	1
	
	200
	8,800

	4/4/20A
	Land purchased
	1
	
	5,000
	3,800

	4/5/20A
	Fuel purchased
	1
	
	90
	3,710

	4/6/20A
	Revenue in advance
	2
	1,600
	
	5,310

	4/10/20A
	Collection from customers
	2
	3,500
	
	8,810

	4/11/20A
	Suppliers paid
	2
	
	700
	8,110

	4/14/20A
	Wages paid
	3
	
	1,950
	6,160

	4/21/20A
	Suppliers paid
	3
	
	3,700
	2,460

	4/26/20A
	Purchased insurance
	3
	
	300
	2,160

	4/28/20A
	Wages paid
	4
	
	1,950
	   210

	4/29/20A
	Collection from city
	4
	1,250
	
	1,460


Accounting Worksheets

At the end of the accounting period, an accounting worksheet may be prepared; if so, it is prepared before the adjusting and closing entries are recorded. The completed worksheet provides all the data needed to complete the remaining end-of-period steps by bringing together in one place, in an orderly way, (1) the unadjusted trial balance, (2) the amounts for adjusting entries, (3) the income statement, (4) the statement of retained earnings, and (5) the balance sheet. Closing entries also can be prepared from the information provided on the worksheet.

Illustration

A simplified case for High-Rise Apartments, Inc., illustrates the preparation of a worksheet at the end of the accounting period. To make the illustration easier, two exhibits are given:


Exhibit C.3
Worksheet format with the unadjusted trial balance and adjusting entry amounts.


Exhibit C.4
Completed worksheet with the income statement, statement of retained earnings, and balance sheet.

The sequential steps used to develop the worksheet are as follows:

Step 1.   Set up the worksheet format by entering the appropriate column headings. This step is shown in Exhibit C.3. The left column shows the account titles (taken directly from the ledger). There are six separate pairs of Debit-Credit columns. Notice that the last three pairs of Debit-Credit columns show the data for the financial statements.

Step 2.
Enter the unadjusted trial balance as at the end of the accounting period directly from the ledger into the first pair of Debit-Credit columns. When all the current entries for the period, excluding the adjusting entries, have been recorded in the journal and posted to the ledger, the amounts for the Unadjusted Trial Balance columns are the balances of the respective ledger accounts. Before going to the next step, the equality of the debits and credits should be tested by totaling each column ($491,460). Adding a column is called footing. When a worksheet is used, developing a separate unadjusted trial balance is not necessary because it can be developed on the worksheet.

Step 3.
The second pair of Debit-Credit columns, headed Adjusting Entries, is completed by developing and then entering the amounts of the adjusting entries directly on the worksheet. The adjustments for High-Rise Apartments shown in Exhibit C.3 were entered for illustration purposes. Review each entry to be sure that you can explain why it was recorded. To facilitate examination (for potential errors), the adjusting entries usually are coded on the worksheet as illustrated in Exhibit C.3. Some of the adjusting entries may need one or more account titles in addition to those of the original trial balance listing (see last five account titles in Exhibit C.3). After the adjusting entries are completed on the worksheet, the equality of debits and credits for those amounts is checked by totaling the two columns ($14,200 each).

The remaining steps to complete the worksheet are shown in the last six columns in Exhibit C.4. These steps are as follows:

Step 4.  The pair of Debit-Credit columns headed Adjusted Trial Balance is completed. Although not essential, this pair of columns helps to ensure accuracy. The adjusted trial balance reflects the line-by-line combined amounts of the unadjusted trial balance, plus or minus the amounts entered as adjusting entries in the second pair of columns. For example, the Rent Revenue account shows a $128,463 credit balance under the Unadjusted Trial Balance column. This amount is increased by the credit amount, $600, and decreased by the debit amount, $500, for a combined amount of $128,563, which is entered as a credit under the Adjusted Trial Balance column. (Adding across such as this is called cross-footing.) For those accounts that were not affected by the adjusting entries, the unadjusted trial balance amount is carried directly across to the Adjusted Trial Balance column. After each line has been completed, the equality of the debits and credits under the Adjusted Trial Balance column is checked (column totals, $503,560).

Step 5.
The amount on each line under the Adjusted Trial Balance column is extended horizontally across the worksheet and entered under the heading for the financial statement on which it must be reported (income statement, retained earnings, or balance sheet). Debit amounts are carried across as debits, and credit amounts are carried across as credits.




You can see that (1) each amount extended across was entered under only one of the six remaining columns and (2) debits remain debits and credits remain credits in the extending process.

Step 6.
At this point, the two Income Statement columns are summed (subtotals). The difference between these two subtotals is the pretax income (or loss). Income tax expense then is computed by multiplying this difference by the tax rate. In Exhibit C.4, the income tax expense is $7,260 [($128,563, revenues – $92,263, pretax expenses) x 20% (tax rate)]. The adjusting entry for income tax then was entered at the bottom of the worksheet. Income tax expense and income taxes payable now can be extended horizontally to the Income Statement and Balance Sheet columns. Net income is entered as a balancing debit amount in the Income Statement column and as a credit in the Retained Earnings column. This represents the entry in the closing process that results in a debit to all revenues and gains, a credit to all expenses and losses, and a credit to Retained Earnings. A net loss appears as a credit in the Income Statement column and as a debit in the Retained Earnings column.

Step 7.
The two Retained Earnings columns are summed. The difference is the ending balance of retained earnings. This balance amount is entered as a balancing debit amount under Retained Earnings and as a balancing credit amount under Balance Sheet (i.e., an increase to owners’ equity). At this point, the two Balance Sheet columns should sum to equal amounts. The continuous checking of the equality of debits and credits in each pair of Debit-Credit columns helps to ensure the correctness of the worksheet. The balancing feature alone does not ensure, however, that the worksheet has no errors. For example, if an expense amount (a debit) were extended to either the Retained Earnings Debit column or to the Balance Sheet Debit column, the worksheet would balance in all respects; however, at least two columns would have one or more errors. Therefore, special care must be used in selecting the appropriate Debit-Credit columns during the horizontal extension process.  Financial statements for High-Rise Apartments can be prepared directly from the completed worksheet in Exhibit C.4.

Reversing Entries

Some accountants add an optional phase to the accounting cycle by making reversing entries. Reversing entries are given this name because at the start of the next accounting period they reverse the effects of certain adjusting entries made at the end of the previous period. They are used for the sole purpose of facilitating certain subsequent entries in the accounts. Due to the rather continuous nature of the operating cycle, certain revenues and expenses are recorded routinely as such. When the end of the accounting period falls between the points for earning revenues or incurring expenses and the cash receipt or payment dates, assets (such as Prepaid Rent Expense) and liabilities (such as Salaries Payable) are created in the adjustment process. If reversing entries are not employed on the first day of the next accounting period, the routine entry causes an error in recognizing revenues and expenses properly in the next period. Let us look at an example.

Let us assume that Day Company, which has a fiscal year ending on December 31, records payroll every two weeks using the following entry:

Salaries expense (E)

8,400


Cash (A)


8,400

EXHIBIT C.3
Worksheet Format with Unadjusted Trial Balance and Adjusting Entry Amounts Already Entered

	HIGH-RISE APARTMENTS, INC.
Worksheet for the Year Ended December 31, 20B

	
	
	
	
	Financial Statements

	
	Unadjusted
Trial Balance
	
Adjusting Entries
	Adjusted
Trial Balance
	Income
Statement
	Retained
Earnings
	Balance
Sheet

	Account Titles
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	12,297
	
	
	
	
	
	
	
	
	
	
	

	Prepaid insurance
	2,400
	
	
	(c) 1,200
	
	
	
	
	
	
	
	

	Inventory of maintenance supplies
	600
	
	
	(e) 400
	
	
	
	
	
	
	
	

	Land
	25,000
	
	
	
	
	
	
	
	
	
	
	

	Apartment building
	360,000
	
	
	
	
	
	
	
	
	
	
	

	Accumulated amortization, building
	
	10,000
	
	(d) 10,000
	
	
	
	
	
	
	
	

	Note payable, long-term
	
	30,000
	
	
	
	
	
	
	
	
	
	

	Mortgage payable, long-term
	
	238,037
	
	
	
	
	
	
	
	
	
	

	Share capital
	
	55,000
	
	
	
	
	
	
	
	
	
	

	Retained earnings, Jan. 1, 20B
	
	29,960
	
	
	
	
	
	
	
	
	
	

	Dividends declared
	12,000
	
	
	
	
	
	
	
	
	
	
	

	Rent revenue
	
	128,463
	(a) 500
	(b) 600
	
	
	
	
	
	
	
	

	Advertising expense
	500
	
	
	
	
	
	
	
	
	
	
	

	Maintenance expense
	3,000
	
	(e) 400
	
	
	
	
	
	
	
	
	

	Salary expense
	17,400
	
	( f ) 900
	
	
	
	
	
	
	
	
	

	Interest expense
	19,563
	
	(g) 600
	
	
	
	
	
	
	
	
	

	Utilities expense
	34,500
	
	
	
	
	
	
	
	
	
	
	

	Miscellaneous expenses
	4,200
	
	
	
	
	
	
	
	
	
	
	

	Rent collected in advance
	
	
	
	(a) 500
	
	
	
	
	
	
	
	

	Insurance expense
	
	
	(c) 1,200
	
	
	
	
	
	
	
	
	

	Amortization expense
	
	
	(d) 10,000
	
	
	
	
	
	
	
	
	

	Salaries payable
	
	
	
	( f ) 900
	
	
	
	
	
	
	
	

	Interest payable
	
	
	
	(g) 600
	
	
	
	
	
	
	
	

	Rent receivable
	
	
	(b) 600
	
	
	
	
	
	
	
	
	

	
	491,460
	491,460
	14,200
	14,200
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	(a)
$500 rent collected, not yet earned.
	(c)
Used $1,200 of insurance.
	(e)
Used $400 of maintenance supplies.
	(g)
Accrued $600 interest on note payable.

	(b)
Rent earned, not yet collected, $600.
	(d)
Annual amortization of buildings, $10,000.
	(f )
Accrued salaries, $900.
	


EXHIBIT C.3
Accounting Worksheet Completed

	HIGH-RISE APARTMENTS, INC.
Worksheet for the Year Ended December 31, 20B

	
	
	
	
	Financial Statements

	
	Unadjusted
Trial Balance
	
Adjusting Entries
	Adjusted
Trial Balance
	Income
Statement
	Retained
Earnings
	Balance
Sheet

	Account Titles
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit
	Debit
	Credit

	Cash
	12,297
	
	
	
	12,297
	
	
	
	
	
	12,297
	

	Prepaid insurance
	2,400
	
	
	(c) 1,200
	1,200
	
	
	
	
	
	1,200
	

	Inventory of maintenance supplies
	600
	
	
	(e) 400
	200
	
	
	
	
	
	200
	

	Land
	25,000
	
	
	
	25,000
	
	
	
	
	
	25,000
	

	Apartment building
	360,000
	
	
	
	360,000
	
	
	
	
	
	360,000
	

	Accumulated amortization, building
	
	10,000
	
	(d) 10,000
	
	20,000
	
	
	
	
	
	20,000

	Note payable, long-term
	
	30,000
	
	
	
	30,000
	
	
	
	
	
	30,000

	Mortgage payable, long-term
	
	238,037
	
	
	
	238,037
	
	
	
	
	
	238,037

	Share capital
	
	55,000
	
	
	
	55,000
	
	
	
	
	
	55,000

	Retained earnings, Jan. 1, 20B
	
	29,960
	
	
	
	29,960
	
	
	
	29,960
	
	

	Dividends declared 
	12,000
	
	
	
	12,000
	
	
	
	12,000
	
	
	

	Rent revenue
	
	128,463
	(a) 500
	(b) 600
	
	128,563
	
	128,563
	
	
	
	

	Advertising expense
	500
	
	
	
	500
	
	500
	
	
	
	
	

	Maintenance expense
	3,000
	
	(e) 400
	
	3,400
	
	3,400
	
	
	
	
	

	Salary expense
	17,400
	
	( f ) 900
	
	18,300
	
	18,300
	
	
	
	
	

	Interest expense
	19,563
	
	(g) 600
	
	20,163
	
	20,163
	
	
	
	
	

	Utilities expense
	34,500
	
	
	
	34,500
	
	34,500
	
	
	
	
	

	Miscellaneous expenses
	4,200
	
	
	
	4,200
	
	4,200
	
	
	
	
	

	Rent collected in advance
	
	
	
	(a) 500
	
	500
	
	
	
	
	
	500

	Insurance expense
	
	
	(c ) 1,200
	
	1,200
	
	1,200
	
	
	
	
	

	Amortization expense
	
	
	(d) 10,000
	
	10,000
	
	10,000
	
	
	
	
	

	Salaries payable
	
	
	
	( f ) 900
	
	900
	
	
	
	
	
	900

	Interest payable
	
	
	
	(g) 600
	
	600
	
	
	
	
	
	600

	Rent receivable
	
	
	(b) 600
	
	600
	
	
	
	
	
	600
	

	
	491,460
	491,460
	14,200
	14,200
	503,560
	503,560
	92,263
	128,563
	
	
	
	

	Income tax expense
	
	
	(h) 7,260
	
	
	
	7,260
	
	
	
	
	

	Income tax payable
	
	
	
	(h) 7,260
	
	
	
	
	
	
	
	7,260

	Net income
	
	
	
	
	
	
	29,040
	
	
	29,040
	
	

	(a)
$500 rent collected, not yet earned.
	(e)
Used $400 of maintenance supplies.
	
	
	128,563
	128,563
	12,000
	59,000
	
	

	(b)
Rent earned, not yet collected, $600.
	(f )
Accrued salaries, $900.
	
	
	
	
	47,000
	
	
	47,000

	(c)
Used $1,200 of insurance.
	(g)
Accrued $600 interest on note payable.
	
	
	
	
	59,000
	59,000
	
	

	(d)
Annual amortization of buildings, $10,000.
	(h)
Income tax ($36,300 pretax income ( 20% rate).
	
	
	
	
	
	
	399,297
	399,297


If the last payday was December 22, an adjustment is necessary to record an additional nine days of salaries expense in the current period, although payment will be made in the following period.


Activities

Last payday



Next payday



 12/22/year 1



  1/5/year 2


 




        Year-End

Dates


      9 days 

 5 days



                                                      Record AJE

Amounts

                   $8,400 ( 14 days = $600 per day



Salaries Expense, Year 1:  9 days x $600 = $5,400



Salaries Expense, Year 2:  5 days x $600 = $3,000

The adjusting entry at December 31 is

Salaries expense (+E( (SE) ……………..     5,400


     Salaries payable (+L) ………………..     
            5,400

The adjusting entry is posted to the appropriate T-accounts. Then the records are closed for Year 1, resulting in the following balances (the unadjusted balance in Salaries expense is assumed to be $200,000):

	Salaries Expense (E)
	
	Salaries Payable (L)

	Unadj. bal.
	200,000
	
	
	
	
	
	
	
	
	
	Unadj. bal.
	0

	AJE*
	5,400
	
	
	
	
	
	
	
	
	
	AJE
	5,400

	
	
	
	
	CE*
	205,400
	
	
	
	
	
	
	

	Closed bal.
	0
	
	
	
	
	
	
	
	
	
	End. bal.
	5,400


*AJE = Adjusting Journal Entry; CE = Correcting Entry

If no reversing entry is made at the beginning of the accounting period, on January 5 the payroll system records a routine journal entry for $8,400 as salaries expense in Year 2 (credit to Cash). However, the company incurred only $3,000 in Year 2. In addition, the Salaries Payable account is not reduced, even though it was paid off on January 5. Both the expense and the liability are overstated in Year 2:

IN ERROR

	Salaries Expense (E)
	
	Salaries Payable (L)

	Year 1
	
	
	
	
	
	
	
	
	Year 1

	Unadj. bal.
	200,000
	
	
	
	
	
	
	
	
	
	Unadj. Bal.
	0

	AJE
	5,400
	
	
	
	
	
	
	
	
	
	AJE
	5,400

	
	
	
	
	CE
	205,400
	
	
	
	
	
	
	

	Closed bal.
	0
	
	
	
	
	
	
	
	
	
	End. Bal.
	5,400

	
	
	
	
	
	
	
	
	
	
	
	
	

	Year 2
	
	
	
	
	
	
	
	
	Year 2

	January 5
	8,400
	
	
	
	
	
	
	
	
	
	
	

	End. bal.
	8,400
	
	
	
	
	
	
	
	
	
	End. Bal.
	5,400


If a reversing entry (RE) is made on January 1, the balances after the reversing entry reflect no liability and a credit amount in Salaries Expense. Then, when the January payroll entry is made, the correct balance in Salaries Expense for Year 2 results:

CORRECT

	Salaries Expense (E)
	
	Salaries Payable (L)

	Year 1
	
	
	
	
	
	
	
	
	Year 1

	Unadj. bal.
	200,000
	
	
	
	
	
	
	
	
	
	Unadj. bal.
	0

	AJE
	5,400
	
	
	
	
	
	
	
	
	
	AJE
	5,400

	
	
	
	
	CE
	205,400
	
	
	
	
	
	
	

	Closed bal.
	0
	
	
	
	
	
	
	
	
	
	End. bal.
	5,400

	
	
	
	
	
	
	
	
	
	
	
	
	

	Year 2
	
	
	
	
	
	
	
	
	Year 2

	
	
	
	
	RE
	5,400
	
	RE*
	5,400
	
	
	
	

	January 5
	8,400
	
	
	
	
	
	
	
	
	
	
	

	End. bal.
	3,000
	
	
	
	
	
	
	
	
	
	End. bal.
	0


*Reversing entry

The reversing entry made on January 1 in this example follows:

Salaries payable ((L)……………..……………. 
5,400


   Salaries expense ((E( +SE)………………     

5,400

If reversing entries are not used, the only way to avoid the error is to monitor and manually record payroll on January 5 as follows:

Salaries payable ((L)……………..…………….  
5,400

Salaries expense (+E( (SE)……………..……  
3,000


   Cash ((A)……………..……………..……

8,400

Therefore, either reversing entries are used or numerous transactions must be monitored throughout the next accounting period to make manual entries to avoid any overstatement errors. Most companies use the reversing-entry option whether the system is manual or computerized.

Not all adjusting entries should be reversed, however. The following can be reversed:

· All adjusting entries related to accruals.
· Only adjusting entries for deferrals that created (or increased) an asset or liability account as part of the adjusting process.
To illustrate reversing entries, let us assume the following December 31 year-end adjustments for an orthodontist’s office:


(a)
Earned $1,200 interest on investments that will be received next month. This is an accrual at year-end.


(b)
Estimated $430 in utility usage for the current month, which will be paid next month. This is an accrual at year-end.


(c)
Amortized office equipment costing $130,000 with an estimated residual value of $20,000 and an estimated useful life of 10 years. This is a deferral, which was originally recorded in an asset account. Amortization expense is $11,000 for the year [($130,000 cost – $20,000 residual value) ÷ 10 years].


(d)
Paid $30,000 in insurance on August 1 for one year of coverage. The account Insurance Expense was debited on August 1.  By December 31, five months of coverage ($30,000 ÷ 12 = $2,500 per month x 5 months = $12,500 insurance expense) has been used. Insurance Expense is overstated by $17,500 ($30,000 – $12,500), and Prepaid Insurance representing seven months of future coverage is understated by the same amount.


(e)
Received $24,000 cash on November 1 for annual rent from businesses leasing other floors of the office building. The Rent Revenue account was credited on November 1.  By December 31, only two months of rent revenue ($24,000 ÷ 12 months = $2,000 per month x 2 months = $4,000) has been earned. Rent Revenue is overstated by $20,000 ($24,000 – $4,000); Unearned Rent Revenue is understated by the same amount.

(f)  Received $870 cash in advance of dental services on December 1. Half of the services were performed by December 31. The liability account Fees Collected in Advance was credited on December 1.  By December 31, $435 (half of $870) is earned and $435 remains a liability to be paid in services in the future. The liability account is overstated and the Fees Revenue account is understated by the same amount.

	Adjusting Entry
	Is a Reversing Entry Possible?

	a.
Interest receivable (A) 

1,200

  Interest revenue (R)


1,200
	This is an accrual. Accruals can be reversed.

Interest revenue (R)

1,200

  Interest receivable (A)


1,200
When the cash is received, credit Interest Revenue.

	b.
Utilities expense (E)

430

  Accrued utilities payable (L)


430
	This is an accrual. Accruals can be reversed.

Accrued utilities payable (L)

430

  Utilities expense (E)


430
When the cash is paid, debit Utilities Expense.

	c.
Amortization expense (E)

11,000

  Accumulated amortization (XA)


11,000
	The adjusting entry decreases an asset account. To reverse this would reflect that no amortization has been recorded on the equipment. Do not reverse the adjusting entry.

	d.
Prepaid insurance (A)

17,500

  Insurance expense (E)


17,500
	The adjusting entry created an asset account. To reverse this would reflect $17,500 in insurance expense for the next year and an elimination of the asset account. Since this is the desired effect, a reversing entry can be made.

Insurance expense (E)

17,500

  Prepaid insurance (A)


17,500

	e.
Rent revenue (R)

20,000

  Unearned rent revenue (L)


20,000
	The adjusting entry created a liability account. To reverse this would reflect $20,000 in rent revenue for the next year and an elimination of the liability account. Since this is the desired effect, a reversing entry can be made.

Unearned rent revenue (L)

20,000

  Rent revenue (R)


20,000

	f.
Fees collected in advance (L)

435

  Fees revenue ( R )


435
	The adjusting entry decreases a liability account. To reverse this would reflect that service is due on all the fees collected in advance. Do not reverse the adjusting entry.


        As indicated, the first two adjusting entries are accruals. They can be reversed since the cash receipt or payment is in the future. The last four adjusting entries adjust deferral accounts. Entries c and f were initially recorded as assets or liabilities. To reverse these would result in an error by increasing the amount of the asset and liability that has already been used up or earned. Entries d and e increased assets or liabilities. A reversal of the adjusting entry in the next period would (1) eliminate the asset or liability account as if it were earned or used up by the end of the next year and (2) reflect the appropriate amount of expense or revenue in the next period. These can be reversed.

Reversing entries allow routine recording of events during the next period so that special adjustments must be made only during the year-end process. Perhaps the most compelling reason for reversing entries is to increase the likelihood that the effects of certain adjusting entries will not be overlooked when recording the next related transaction in the following period.

Key Terms

Audit Trail  The reference system that provides sufficiently detailed explanations necessary for tracing an entry back to its source documents. p. 1
Journal  A record that lists chronologically the effects of transactions; the book of original entry. p. 1

Ledger  Contains all of the individual accounts for revenues, expenses, assets, liabilities, and shareholders’ equity. p. 1
Reversing Entries  Optional entries made at the start of the next accounting period to reverse the effects of certain adjusting entries.  They facilitate subsequent entries and simplify the bookkeeping function. p. 5

Questions


1.
What are (a) the book of original entry and (b) the book of final entry?


2.
Define journal. What is its purpose? 


3.
Define ledger. What is its purpose?


4.
What is an audit trail?


5.
What is the basic purpose of the worksheet?


6.
Why are adjusting entries entered on the worksheet?


7.
Why are adjusting entries recorded in the journal and posted to the ledger even though they are entered on the worksheet?


8.
What are reversing entries? When are reversing entries useful?


9.
Give one example of (a) an adjusting entry that should be reversed and (b) one that should not be reversed.

Exercises

EC-1 Journalizing and Computing Account Balances

On January 1, 20A, Hamilton and Dyson organized Tennis Company, Inc. The completed transactions from January 1, 20A, through February 3, 20A, can be summarized as follows:

	Jan. 1
	
Cash invested by the organizers: Hamilton, $40,000 (for 4,000 shares) and Dyson, $30,000 (for 3,000 shares).

	3
	Paid monthly rent, $2,000.

	15
	Purchased equipment that cost $28,000 for use in the business; paid $4,000 down and signed a 10% note payable for the balance. Monthly payments made up of part principal and part interest are to be paid on the note.

	30
	Paid cash for operating expenses amounting to $25,000; in addition, operating expenses of $6,000 were incurred on credit.

	30
	Service fees earned amounted to $60,000, of which $48,000 was collected and the balance was on credit.

	Feb. 1
	Collected $8,000 on account for services performed in January and originally recorded as an account receivable and service revenue.

	2
	Paid $2,000 on the operating expenses incurred in January and originally recorded as an account payable and operating expenses.

	3
	Paid the first installment of $750 on the equipment note, including interest expense of $200.


Required:


1.
Analyze and journalize each of the preceding transactions in proper general journal format.


2.
Create general ledger pages and post each entry to the ledger.


3.
Compute the following:



a.
 The cash balance at February 3, 20A.



b.
 The pretax income for the period January 1, 20A, through February 3, 20A.

EC-2 Writing Journal Entries from T-Accounts

The following T-accounts for Sam’s Service Company, Inc., show six different transactions (entries). Create a general journal and prepare a journal entry in good form for each transaction. Write a complete description of each one. (Hint: Notice that some transactions have two debits or two credits.)

	Cash
	
	Accounts Receivable
	
	Equipment

	(a)
	60,000
	
	
	(c)
	10,000
	
	(b)
	4,000
	
	
	(d)
	3,000
	
	( f )
	25,000
	
	
	
	

	(b)
	30,000
	
	
	(e)
	2,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	(d)
	3,000
	
	
	(f )
	7,000
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
Accounts Payable
	
	
Note Payable
	
	Share Capital 
(6,000 shares)

	(e)
	2,000
	
	
	(c)
	3,000
	
	
	
	
	
	(f )
	18,000
	
	
	
	
	
	(a)
	60,000

	Service Revenue
	
	Operating Expenses
	
	

	
	
	
	
	(b)
	34,000
	
	(c)
	13,000
	
	
	
	
	
	
	
	
	
	
	


EC-3 Identifying Adjusting Entries by Comparing Unadjusted and Adjusted Trial Balances

Nally Company is in the process of completing the information processing cycle at the end of the accounting year, December 31, 20B. The worksheet and financial statements have been prepared. The next step is to journalize the adjusting entries. The following two trial balances were taken directly from the completed worksheet.

	
	
	December 31, 20B

	
	
	Unadjusted
Trial Balance
	Adjusted
Trial Balance

	
	Account Titles
	Debit
	Credit
	Debit
	Credit

	a.
	Cash
	9,300
	
	9,300
	

	b.
	Accounts receivable
	
	
	500
	

	c.
	Prepaid insurance
	2,000
	
	1,350
	

	d.
	Equipment
	120,000
	
	120,000
	

	e.
	Accumulated amortization
	
	22,000
	
	25,000

	f.
	Income taxes payable
	
	
	
	4,100

	g.
	Share capital
	
	50,000
	
	50,000

	h.
	Retained earnings, January 1, 20B
	
	26,300
	
	26,300

	i.
	Service revenue
	
	51,000
	
	51,500

	j.
	Salary expense
	18,000
	
	18,000
	

	k.
	Amortization expense
	
	
	3,000
	

	l.
	Insurance expense
	
	
	650
	

	m.
	Income tax expense
	
	
	4,100
	

	
	
	149,300
	149,300
	156,900
	156,900


Required:

By examining the amounts in each trial balance, reconstruct the adjusting entries that were made between the unadjusted trial balance and the adjusted trial balance. Give an explanation of each adjusting entry.

EC-4 Completing a Worksheet Starting with an Unadjusted Trial Balance

Santos Company is completing its annual accounting information processing cycle at December 31, 20B. The following worksheet has been started (to simplify, amounts given are in thousands of dollars).

	
	
	Santos Company Unadjusted Trial Balance
	
	
	
	
	
	
	
	

	Account 
No.
	
	
Account Titles
	
Debit
	
	
Credit
	

	101
	
	Cash
	
	28    2
	
	
	
	000
	
	

	102
	
	Accounts receivable
	
	400  
	
	
	
	
	
	

	103
	
	Inventory
	
	 21 
	
	
	
	
	
	

	104
	
	Prepaid insurance
	
	4    
	
	
	
	
	
	

	110
	
	Equipment (10-year life, no residual value)
	
	80
	
	
	
	
	
	

	111
	
	Accumulated amortization, equipment
	
	
	
	
	
	8
	
	

	119
	
	Accounts payable
	
	
	
	
	
	12
	
	

	120
	
	Wages payable
	
	
	
	
	
	
	
	

	121
	
	Income taxes payable
	
	
	
	
	
	
	
	

	122
	
	Revenue collected in advance
	
	
	
	
	
	
	
	

	123
	
	Note payable, long-term
	
	
	
	
	
	25
	
	

	
	
	(10% interest due each December 31)
	
	
	
	
	
	25
	
	

	130
	
	Share capital
	
	
	
	
	
	77
	
	

	140
	
	Retained earnings
	
	
	
	
	
	12
	
	

	145
	
	Revenues
	
	
	
	
	
	108
	
	

	146
	
	Expenses
	
	69
	
	
	
	
	
	

	147
	
	Income tax expense
	
	
	
	
	
	
	
	

	
	
	
	
	$242
	
	
	
	$242
	
	

	
	
	
	
	
	
	
	
	
	
	


Data not yet recorded for 20B:

	
a.
Insurance expense, $2.
	
d.
Revenue collected by Santos; not yet earned, $4.

	
b.
Amortization expense, $8
	
e.
Income tax rate, 25 percent.

	
c.
Wages earned by employees; not yet paid, $1.
	


(Note: No accrued interest is recorded because interest is paid on each December 31.)

Required:

Complete the worksheet in every respect (you may use account numbers instead of account titles). Set up additional column headings for Adjusting Entries, Adjusted Trial Balance, Income Statement, Retained Earnings, and Balance Sheet. Record all revenues and expenses except income tax in the two accounts given (145 and 146).

EC-5 Completing a Worksheet Starting with an Unadjusted Trial Balance

Ricci Corporation, a small company, is completing its annual accounting information processing cycle at December 31, 20B. The worksheet, prior to the adjusting entries, has been started as follows:

	
	Unadjusted
Trial Balance

	Account Titles
	Debit
	Credit

	Cash
	16,000
	

	Accounts receivable
	8,000
	

	Equipment
	20,000
	

	Accumulated amortization
	
	5,000

	Other assets
	38,000
	

	Accounts payable
	
	7,000

	Note payable, long-term
	
	8,000

	Share capital
	
	36,000

	Retained earnings
	
	10,000

	Revenues
	
	50,000

	Expenses
	34,000
	

	
	116,000
	116,000

	Income tax expense
	
	

	Income taxes payable
	
	

	Net income
	
	


Data not yet recorded for 20B:


a.
Amortization expense, $3,000.


b.
Income tax rate, 30 percent.

Required:

Complete the worksheet in all respects, including a legend explaining the adjustments. Set up additional column headings for Adjusting Entries, Adjusted Trial Balance, Income Statement, Retained Earnings, and Balance Sheet.

EC-6 Determining When to Use a Reversing Entry

Canadian Company has completed its accounting information processing cycle for the year ended December 31, 20A. Reversing entries are under consideration on January 1, 20B, for two different adjusting entries made on December 31, 20A. For case purposes, the relevant data are given in T-accounts:

	Prepaid Insurance

	1/1/20A Balance
	400
	
	
	(a) 12/31/20A Adj. entry
	200

	Insurance Expense

	(a) 12/31/20A Adj. entry
	200
	
	
	(c) 12/31/20A Closing entry
	200

	Accrued Wages Payable

	
	
	
	
	(b) 12/31/20A Adj. entry
	2,000

	Wages Expense

	Paid during 20A
(b) 12/31/20A Adj. entry
	20,000
2,000
	
	
	(d) 12/31/20A Closing entry
	22,000

	Retained Earnings

	12/31/20A Closing entries
(c)
(d)
	
200
22,000
	
	
	1/1/20A Balance
	300,000


Required:

Would a reversing entry on January 1, 20B, facilitate the next related entry for (a) Prepaid Insurance and (b) Accrued Wages Payable? Explain why.

Problems

PC-1 Completing the First Four Steps of the Accounting Information Processing Cycle

Four Seasons Company, Inc., started its operations on January 1, 20A. During the first year ended December 31, 20A (end of the accounting period), the following summarized entries were completed:

Date
Transaction

(a)
Issued 30,000 shares for $80,000 cash.


(b)
Purchased equipment for use in operations that cost $50,000 cash. The estimated life of the equipment is 10 years.

(c)
Borrowed $40,000 cash and signed a long-term note payable (10% interest).


(d)
Earned revenues of $102,000; $8,000 were on credit (not yet collected at year-end).

(e)
Incurred expenses (including interest on the note payable) of $70,000; $8,000 were on credit (not yet paid at year-end).

(f)
Paid cash dividend, $7,000. (Hint: Debit Retained Earnings.)

(g)
Recorded amortization expense. Ignore income taxes. 

Required:

Process these transactions through the accounting information processing cycle using the following steps:

Step 1.
Analyze:  Write your analysis of each transaction in terms of Assets = Liabilities + Shareholders’ Equity; Debits = Credits (as discussed in Chapters 2 and 3).

Step 2.
Journalize each transaction:  Start your general journal with page 1. Use the date letters to identify transactions.

Step 3.
Post to the ledger:  Set up the following ledger accounts and account numbers: Cash, 101; Accounts Receivable, 102; Equipment, 105; Accumulated Amortization, 106; Accounts Payable, 201; Note Payable, Long-Term, 205; Share Capital, 301; Retained Earnings, 303; Revenues, 310; and Expenses, 315. Post the journal entries to the ledger accounts (as you complete each journal entry or after the last journal entry).

Step 4.
Prepare a trial balance.

PC-2 Completing a Worksheet Starting with the Adjusted Trial Balance, Computing the Amounts for the Adjusting Entries, and Giving the Closing Entries

Anderson Corporation has partially completed the following worksheet for the year ended December 31, 20E:

	
	Unadjusted
Trial Balance
	Adjusting
Entries

	Account Titles
	Debit
	Credit
	Debit
	Credit

	Cash
	33,000
	
	
	

	Accounts receivable
	22,000
	
	
	

	Supplies inventory
	1,200
	
	
	(a)
,600

	Interest receivable
	
	
	(b)
300
	

	Long-term note receivable (10%; dated September 1, 20E)
	9,000
	
	
	

	Equipment (8-year life, no residual value)
	80,000
	
	
	

	Accumulated amortization
	
	35,000
	
	(c)
10,000

	Accounts payable
	
	10,000
	
	

	Note payable, short-term (12%; dated July 1, 20E)
	
	12,000
	
	

	Interest payable
	
	
	
	(d)
720

	Income taxes payable
	
	
	
	(e)
3,620

	Share capital
	
	35,000
	
	

	Retained earnings
	
	20,000
	
	

	Service revenue
	
	72,000
	
	

	Interest revenue
	
	
	
	(b)
300

	Expenses (not detailed)
	38,800
	
	(a)
600
	

	Amortization expense
	
	
	(c)
10,000
	

	Interest expense
	
	
	(d)
720
	

	Income tax expense
	
	
	(e)
3,620
	

	 Totals
	184,000
	184,000
	
15,240
	
15,240


Required:


1.
Use additional columns for Adjusted Trial Balance, Income Statement, Retained Earnings, and Balance Sheet; and complete the worksheet.


2.
Show how the following adjusting entry amounts were computed:



(a)
 $600, (b) $300, (c) $10,000, (d) $720.


3.
Prepare the closing entries.


4.
Why are the adjusting and closing entries journalized and posted?

PC-3 Solving Comprehensive Worksheet Problem, Starting with an Unadjusted Trial Balance and Ending with the Closing Entries

Marine Pool Service & Repair, Inc., has been in operation for several years. Revenues have increased gradually from both the pool cleaning and repair services. The annual financial statements prepared in the past have not conformed to GAAP. The newly employed president decided that a balance sheet, income statement, and statement of retained earnings should be prepared in conformity with GAAP. The first step was to employ a full-time bookkeeper and engage a local auditing firm. It is now December 31, 20C, the end of the current accounting year. The bookkeeper has developed a trial balance from the ledger. A member of the staff of the auditing firm will advise and assist the bookkeeper in completing the accounting information processing cycle for the first time. The unadjusted trial balance at December 31, 20C, follows.

MARINE POOL SERVICE & REPAIR, INC.
Unadjusted Trial Balance
December 31, 20C

	Debits
	
	
	Credits
	
	

	Cash
	27,500
	
	Accumulated amortization 
	24,000
	

	Accounts receivable
	2,080
	
	Accounts payable 
	8,000
	

	Office supplies inventory
	170
	
	Wages payable
	
	

	Prepaid insurance
	800
	
	Interest payable
	
	

	Land for future building site (not in use)
	5,000
	
	Revenue collected in advance
	
	

	Equipment
	72,000
	
	Income taxes payable
	
	

	Other assets (not detailed)
	22,000
	
	Note payable (12%)
	20,000
	

	Salary expense
	60,000
	
	Share capital (25,000 shares)
	25,000
	

	Advertising expense 
	2,000
	
	Retained earnings
	9,800
	*

	Utilities expense 
	1,400
	
	Repair revenue
	72,000
	

	Maintenance expense
	3,200
	
	Cleaning revenue
	38,000
	

	Miscellaneous expenses
	650
	
	
	
	

	Insurance expense
	
	
	
	
	

	Wage expense
	
	
	
	
	

	Amortization expense
	
	
	
	
	

	Interest expense
	
	
	
	
	

	Income tax expense
	
	
	
	
	

	
	196,800
	
	
	196,800
	


* The company declared and paid $3,000 in dividends during the year.

Examination of the records and related documents provided the following additional information that should be considered for adjusting entries:


a.
A physical count of office supplies inventory at December 31, 20C, reflected $70 on hand. Office supplies used are a miscellaneous expense. Office supplies purchased during 20C were debited to this inventory account.


b.
On July 1, 20C, a one-year insurance premium of $400 was paid; it was debited to Prepaid Insurance.


c.
The equipment cost $72,000 when acquired. The annual amortization expense is $12,000.


d.
Unpaid and unrecorded wages earned by employees at December 31, 20C, amounted to $900.


e.
The $20,000 note payable was signed on October 1, 20C, for a 12 percent bank loan; principal and interest are due on September 30, 20D.


f.
Cleaning revenue collected and recorded as earned before December 31, 20C, included $150 collected in advance from three customers for cleanings to be done in January, 20D. (Hint: Reduce Cleaning Revenue.)


g.
Gasoline, oil, and fuel purchased for the vehicles and used during the last two weeks of December 20C amounting to $200 have not been paid for or recorded (this is considered maintenance expense).


h.
The average income tax rate is 20 percent, which produces income tax expense of $5,720.

Required:


1.
Enter the unadjusted trial balance on a worksheet; then, based on the preceding data, enter the adjusting entries. Complete the worksheet.


2.
Using the worksheet, prepare an income statement (use two captions: Revenues and Expenses), and a statement of retained earnings for the year ended December 31, 20C, and a balance sheet as at December 31, 20C.


3.
Using the worksheet, prepare the 20C adjusting entries in journal form.


4.
Using the worksheet, prepare the 20C closing entries in journal form.

PC-4 Selecting Adjusting Entries That Often Are Reversed 

Global Corporation has completed all information processing including the annual financial statements at December 31, 20D. The adjusting entries recorded at that date were as follows:


a.
Insurance expense …………………      250



          Prepaid insurance  …………                      250


b.
Interest receivable  …………………      400



          Interest revenue  ……………                     400


c.
Supplies expense  ………………….        90



          Supplies inventory  ………….                      90


d.
Amortization expense ……………….  3,000



          Accumulated amortization  …                 3,000


e.
Wage expense  ………………………    700



          Wages payable  ………………                  700


f.
Interest expense  ……………………..    600



          Interest payable  ………………                  600


g.
Income tax expense  ………………… 5,500



          Income taxes payable  ……….                5,500

Required:

Indicate whether each of these adjusting entries usually is reversed. Prepare the reversing entry in each instance and explain the basis for the entry. If no reversing entry is needed, explain why.

LEARNING OBJECTIVE 1


Utilize a formal General Journal and a General Ledger to prepare journal entries and accumulate account balances.  





A JOURNAL is the record that lists chronologically the effects of transactions; the book of original entry.











An AUDIT TRAIL is a reference system that provides sufficiently detailed explanations necessary for tracing an entry back to its source documents.























A LEDGER contains all of the individual accounts for revenues, expenses, assets, liabilities, and shareholders’ equity.





LEARNING OBJECTIVE 2


Construct a year-end worksheet that includes a trial balance, and adjustments to the balances of accounts that appear on financial statements.  





LEARNING OBJECTIVE 3


Explain and prepare reversing entries.  





REVERSING ENTRIES are optional entries made at the start of the next accounting period to reverse the effects of certain adjusting entries. They facilitate subsequent entries and simplify the bookkeeping function.
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